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ePUapupdtsj; njhopDl;gtpay; II 
 

tpilfs; 
01. A (I)  A – el;rj;jpukPd; 
  B – fztha; 
  C - ,why; 

  D – Kj;Jr;rpg;gp     4 x 
 

 
 =  2 Gs;sp 

 
 II)   (a)  ,why; (C)  1 Gs;sp  
  (b) el;rj;jpu kPd; (A)  1 Gs;sp 
 
 III)  (a) rpg;gp (D)  1 Gs;sp 
  (b) fztha; (B)  1 Gs;sp 
 
 IV)  Kl;il> ikrp];> Flk;gpepiy> tsHepiy  2 x 1 =  2 Gs;sp 
  
 V) Kj;Jf;fs; ngWjy;> myq;fhug; nghUl;fs; nra;jy;   2 Gs;sp 
 
 VI)  tapw;Wg;Gwkhf thAk; FjKk; mike;jpUf;Fk;  
    ,ypq;f Kiw%yk; ,dk; ngUf;Fk;  
   mbj;jsj;jpy; thOk; Ks;se;jz;bypfis czthf cl;nfhs;Sk; 2 x 1 =  2 Gs;sp 

B 

 VII) x –G+tpio 
  y – G+thup   2 x 1 =   2 Gs;sp 
 
 VIII) nej;jyp> rhis   2 x 1 =   2 Gs;sp 
 

 IX) tha;> tha;f;Fop> njhz;il> fsk;> ,iug;ig> rpWFly;> Fjtop  4 x 
 

 
 =    2 Gs;sp 

 
 x)  tha;    tha;f;Fop    njhz;il     G+f;fs;     G+tpio      2 Gs;sp 
     2 0Gs;sp 
 
 
 
 
 

1) 3 

2) 1 

3) 1 

4) 2 

5) 4 

6) 1 

7) 4 

8) 1 

9) 3 

10) 4 

11) 4 

12) 2 

13) 2 

14) 4 

15) 3 

16) 2 

17) 1 

18) 3 

19) 4 

20) 2 

 

31) 1 

32) 3 

33) 2 

34) 4 

35) 4 

36) 2 

37) 2 

38) 3 

39) 4 

40) 1 

21) 3 

22) 2 

23) 1 

24) 4 

25) 1 

26) 4 

27) 2 

28) 1 

29) 1 

30) 3 
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02. I)  (a)  Vw;Wkjp%yk; me;epar; nryhtzp fpilj;jy;  
   Ranjhopy; tha;g;ghf mikjy; 
  nghOJNghf;fhf mikjy;  

    Neha;f; fl;Lg;ghL Vw;gly;  ………. 2 x 1 =   2 Gs;sp 

  (b) fg;gp> Fuhkp> ghg;> Nfhy;l;gp];> x];fh  2 x 
 

 
 =    1 Gs;sp 

 
 II) (a)  JbJbg;ghd nraw;ghL  
   fz;fs; gpufhrkhf ,Uj;jy;  
   ,dj;jpw;Fupa epwk; fhzg;gly; ……………. 2 x 1 =   2 Gs;sp 

  (b) typRNdupah> Ijupy;yh  2 x 
 

 
 =    1 Gs;sp 

  
 III) (a)   pH ngWkhdk;> fiue;Js;s xl;rprd;> ePupd; td;ik>  
     mNkhdpahr; nrwpT  2 x 1 =   2 Gs;sp 
 
  (b) fhw;W}l;ly; gk;gpfisg; gad;gLj;Jjy;  
   ePiu khw;wPL nra;jy;  2 x 1 =   2 Gs;sp 
     10 Gs;sp 
 

03.  I)  (a) fz;ly;> fhf;fz;ly;> fd;d> jpg;guj;ij tpjpypf;fd;d> rpWfz;ly;  2 x 
 

 
 =    1 Gs;sp 

  (b) ,iy rpwpadthf ,Uj;jy;  
   rPtr Kiw Kisj;jiyf; nfhz;bUj;jy;  
   rijg;gpbg;ghd ,iy fhzg;gly;  
   ,iyia cjpHf;Fk; jd;ik  2 x 1 =   2 Gs;sp 
 
 II)  (a) jha;j;jhtuj;jpy; cs;sNghNj tpj;Jf;fs; Kistpl;L gpd;dH 
   tpOe;J tsHjy; MFk;            2 Gs;sp 
  (b) rJg;G epyq;fspy; tpj;J Kisg;gJ fbdkhjyhYk; mkpo;e;J  
   Nghtijj; jtpHg;gjw;Fk; MFk;          2 Gs;sp 
 
 III) fiuNahu mupg;igj; jLj;jYk; flw;fiuf; fhg;Gf;Fj; Jiz GupjYk;  
  fpz;izg; goq;fspy; ,Ue;J Ritahd ghzk; jahupf;fyhk;  
  cilf;F rha%l;Lk; epwk; ngWjy;  
   jz;L tpwfhfg; gad;gLjy; …………………..  3 x 1 =   3 Gs;sp 
  
      10 Gs;sp 
 
04.  I) (a) tpyhq;F     1 Gs;sp 
 (b) cztpw;fhf> ghJfhg;gpw;fhf……. 2 x 1 =   2 Gs;sp 
 
 II) (a) vjpupfsplk; ,Ue;J jd;idg; ghJfhj;Jf; nfhs;tjw;fhf  
  jdf;Fj; Njitahd ,iuiag; ngw;Wf;nfhs;tjw;F 2 x 1 =   2 Gs;sp 
  (b) czTf;F 
  ,dg;ngUf;fj;jpw;F 
  ,jkhd #oiyj;Njb  
  gUtf;fhw;W  
  ePNuhl;lk;  2 x 1 =   2 Gs;sp 
 
 III)    

vd;G kPd; frpapioa kPd; 
Rz;zhk;Gg; gbthd Ks;se;jz;L 
cz;L 

Frpapisaj;jpdhyhd Ks;se;jz;L 
cz;L 

cly; ePskhd tbtk; cilaJ jl;ilahd tbtk; cilaJ 
G+f;fs; G+%bapdhy; 
%lg;gl;bUf;Fk;  

G+f;fs; G+%bapdhy; %lg;gl;buhJ 

    3 x 1 =   3 Gs;sp 
     10 Gs;sp 



9 
 

05.  I)  (a) KUiff;fw;ghiwfs;> flw;Gd;dpyq;fs; 2 x 
 

 
 =    1 Gs;sp 

  (b) KUiff;fw;ghiwfs; -  mjpf capHg;gy;tifik nfhz;bUj;jy; 
   Rw;Wyhj;Jiwf;F cjTjy;  
   
   flw;Gd;dpyq;fs; -  flypd; mbg;gFjpapd; cWjpiag; ghJfhj;jy; 
    mq;fpfSf;F czT> thoplkhf mikjy; 
    2 x 1 =   2 Gs;sp 
 

 II) (a) czTr;rq;fpyp> czTtiy  2 x 
 

 
 =    1 Gs;sp 

  (b) jkf;Fj; Njitahd czit jhNk jahupj;Jf; nfhs;Sk;  
   jhtuq;fs; Kjy; cw;gj;jp Mf;fpfs; vdg;gLk;          2 Gs;sp 
 
 III)  Xuplj;jpypUe;J ,d;DNkhH ,lj;jpw;F ePH fpilahf mirAkhdhy;  
  mJ ePNuhl;lk; vdg;gLk;  
   
  fhw;W> tw;Wg;ngEf;F> GtpaPHg;G     2+1=  3  Gs;sp 
 
     10 Gs;sp 
 
 
06.  I)  (a) cy;th     1 Gs;sp 
  (b) Kjd;ik cw;gj;jpahf;fpahFk;  
   tpyq;F kw;Wk; kdpj czT  
   grisahfg; gad;gLjy; 2 x 1 =   2 Gs;sp 
 
 II) (a) fpsrpNywpah     1 Gs;sp
   (b) czthf Kf;fpak;ngwy;  
    Ranjhopyhf nra;ifgz;zy;  
    tpw;wkpidg; ngwy;  
   %ypifahf Kf;fpak;ngwy; 3 x 1 =   3 Gs;sp 
 
 III) eLifg; nghUs; ,y;yhjpUj;jy; my;yJ mupjhf ,Uj;jy;  
  czTf;fhd ePHj;jhtuk; gw;wpa Nghjpa mwpT ,d;ik  
   Vw;Wkjp kl;Lg;gLj;jg;gl;bUj;jy;> jilnra;jpUj;jy; ………  3 x 1 =   3 Gs;sp 
 
     10 Gs;sp 
 
07.  ,uz;bw;F cupa tpil vOjpapUj;jy;   2 x 5 =   10 Gs;sp  
  
 
 
 
  
 
 
 
 
 
 

 
 
 

 
  
 
  
 
 




